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4 & 3K e R FI 906kN
& 3 1, 635, 047 4,905, 141
4 & 3K R 951kN
& 3 1, 347, 675 4,043, 025
T T
= 1 8,948, 166
(355 BRI
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290 =M L
= 1 69, 195, 917
VAN Y i
= 1 55, 036, 106
7 Vet - E T
= 1 42,821, 123
7" Vet - RAE &
VN 3 14,071, 313 42,213, 939
B vheFyb T.C.B(S10T) M22
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= 1 1, 064, 859
AT
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BRER T (JV-v2EER)
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HiZRa% M7 Ve 0GRt
VN 3 77, 620 232, 860
VEVAEVZEEI S
= 1 1,526, 197
Tl e UEVAN b
= 1 665, 819
ERAR SD345 D10
t 0. 06 349, 999 20, 999
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t 0.21 1,212,907 254, 710
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m3 9 45, 583 410, 247
JET VANWAT
= 1 228, 807
4y 7" VAR A
= 1 228, 807
IRAR - #iAfT 1
= 1 7,297, 655
AT U
T 8 13, 803 110, 424
T P — T
= 1 2,812, 260
ERAR SD345 D13
t 1.42 161, 820 229, 784
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t 12.31 159, 739 1, 966, 387
VAR 30-12-25(20) (@)
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= 1 869, 135
SRR E AR
m 26 1,378 35, 828
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m2 7 4, 690 32, 830
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PR A B OV 2=

m3 8 17,113 136, 904
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m2 9 10, 721 96, 489
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A ARG A TA77 bk (A
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AL Gy TA77 bk (A
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m 26 2,154 56, 004
R By 1L
= 1 6, 552, 742
PekEEE T
= 1 2, 165, 470
KL EN AT ¢ 38 H=250
T 6 47, 941 287, 646
HEAKE VP200
m 3 35, 832 107, 496
)= TR VbR E M12X 100 Ay%
i 4 1, 360 5, 440
SRR 200 X 250 X 55
m 24 73, 537 1, 764, 888
g T
= 1 309, 062
SapTFI H 24-12-25(20) (@)
m 26 11, 887 309, 062
MRHGER R T
= 1 282, 360
YT FI A B BE S 24-12-25(20) (@)
m 26 10, 860 282, 360
15 92 A v A
= 1 3, 795, 850
5 92 FH v A LB R
m 26 80, 009 2, 080, 234
5 92 FH v A 8
m 32 53,613 1,715,616
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= 1 16, 836
A X R A A TEAIT SERRE 15em HIR
Hf
= 1 32, 422
AR X TR 2 B 15emifal
= 1 214, 249
RIEE T
= 1 4, 264, 848
i e kg = AR B A
= 1 2,414, 568
RFE AR B AR BB
= 1 1, 850, 280
T
= 1 1,071,272
=
= 1 1,071,272
FSheE 1SN
= 1 1,071,272
eV 24-12-25(20) (% JF)
m3 14 30, 976 433, 664
ERAR SD345 D13
t 0.12 170, 540 20, 464
ERAR SD345 D16~25
t 0. 54 186, 890 100, 920
ERAR SR235 9
t 0.01 214, 438 2,144
T P — T
= 1 514, 080
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HEHE R
= 1 4,747,030
TE T
= 1 ,301, 306
L
m3 1, 000 313, 900
1) W A7 vy b P REEAE 5,
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= 1 313, 900
23N
m3 900 577, 635
PR (L) BE - 4. 0omPd |
= 1 177, 920
PR (L) B - 2. 5mPh 4. OmA i
= 1 38, 640
A (L) &+ 2. bR
= 1 304, 150
FEHIA (h=27) -1+ £50, 000m3 A
= 1 56, 925
B T
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B T 4. 0omPd |
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R T
= 1 341, 231
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= 1 156, 585
AT
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-7 ey FE (BR) L
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EE LT
= 1 38, 779
2/ =47 my ) T (aV)) =87y ) FE)
= 1 1, 054, 349
Bl T3 ) - b 18-8-40 (#47) JEIE 55cm & 3
5cm
m 11 11, 193 123,123
)y =b () 77 ny )58 #235cm HiAay/)-ME 15em
m2 26 30, 542 794, 092
JIR3A - AR (e ) AR RC-40
m3 10 7,696 76, 960
HS T K ia ) -h 18-8-40 (i 47)
m3 0.9 66, 861 60, 174
Pk A& T
= 1 1, 905, 993
EE LT
= 1 97, 989
LI
= 1 81, 909
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BT
= 1 104, 786
IR AR )2V E (F L) 6250
m 22 4,763 104, 786
SE KA v E-y T
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BUGFT B AE ARt G2 (A) -B500-L500-H800 18-8-40 (
) VT R A O
T 1 63, 348 63, 348
BUGFT B AEAK G2 (A) -B500-L500-H900 18-8-40 (
) VT R A O
T 2 66, 632 133, 264
* PR B500-L500/] t=6. 0
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HEAKT
= 1 1,322, 532
UNEEE ViR PU1-B300-H300 18-8-40 (/& 4F)
m 57 20, 481 1, 167, 417
fEPEAK PU1-B240-H240 (J/y M) 18-8-40
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e 2 1, 359 2,718
X R
= 1 235, 348
X R 1
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A= X R G TE) EH 15em JE 1. 5mm
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)
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TE AT R R L
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1 L 70X 100X 8 10K A1
e 2 3, 049 6, 098
&Y E T
= 1 15,112
S EUE L L
= 1 3,979
av)) - M IS BUE L IEATHEEY) B L
m3 0.5 7,958 3,979
TEfMET
= 1 8, 352
KA+ 5 HE
] 12 696 8, 352
TE AL T
= 1 2,781
PR aukiil vy - (TR
m3 0.5 2, 066 1,033
AL Gy vy - (TR
m3 0.5 3,497 1,748
[EEE AR
= 1 75,014, 219
BT S
= 1 10,517, 033
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B STl
= 1 2,872, 356
T
= 1 1, 829, 270
T RR A oy AR ST A
= 1 1, 829, 270
Bt
= 1 82, 509
i g}
X 0 0
i g}
= 1 82, 509
HTE
= 1 553, 735
B B HE R FEART IR
= 1 58, 267
BV 2y ) - DR S 2 LR
#
= 1 495, 468
RGREYCESE (R§L)
= 1 406, 842
HimEE (FE L)
= 1 7,644, 677
Wi
= 1 85, 531, 252
B E
= 1 25, 206, 400
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= 1 110, 737, 652
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